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WA 55.8 ERE 55.8 1,728 1,490 1,220 0] A
IZACA 16.6 ERE 14.7 1,620 — 1,404 10 M
IZALCA EES 1.8 - 2,700 - 10 vay M
ZIES5 0.5 BRE 0.4 2,160 1,728 1,728 2l A LL
ZIES5 5 0.1 - 2,268 - 4 A 4
=T 0.2 BERE 0.1 — 13,770 - 8.5
-1 f E 4104 — 3,888 2 8
EXER 56.3 ERE 18.9 1,188 — 1,080 15[ A 6
[E<E0y £ & 37.4 — 1,080 - 15 A 6
HTE 1.8 il 1.1 1,620 — 1,350 5
HTE BRE 0.7 1512 — 540 4 A M
ZEDOH 5.9 BERE 3.9 2,700 1,080 1,080 4f A M
Fyy 111.1 BRE 110.3 1,188 972 864 10 8
Fyy 2 [ - 1,296 — A L
IE5SNAZES 3.3 2 [ 1.2 2,268 1,458 1,458 6] A L
hE 7.7 BRE 5.7 1,080 864 864 3l A LL
h= E 15 0.6 1,188 — 1,080 3 vay L
_hE 3.0 = B 1.1 2,268 — 1,404 3 L
LAl 0.3 BERE - 1,296 — 4l A
125 6.2 =0 3.4 3,780 2,700 2,700 5] vay
)L — 1.3 2 [ 0.4 — 3,024 — 0] A LL
T RINSGH R 3.0
Hh)257— 0.6
Joyal)— 15.0 K B 5.9 3,240 1,080 1,080 6] A L
LARR 28.7 E & 17.4 1,080 864 756 0] A 12
LAR 2 [ 7.2 1,566 432 432 4f A L
FoTHA 1.4 BRE 0.8 1512 1,080 1,080 4f A L
5l 27.6 BRE 22.0 2,246 1,188 972 5/ A M
=p5Y ElG 5.6 1,512 — 1,404 51 A L
NESSED 8.3 - 8.3 2,916 2,160 2,160 10 vay 6
Y 25 E X 1.9 - 1,350 - 5 L
k< 14.1 BRE 9.3 1,728 1,512 1,296 4f A M
k< 2 [ 2.1 — 1,102 — 4
I=kTh 48 BRE 3.9 140 97 92 02 A M
E—<> 75 BERE 7.0 7,776 4212 4212 7.8 A M
[ZA5Y 0.3 =l 0.1 - 3,240 - 6] A M
SPVAITFA 0.8
SPZAES 4.1 BRE 4.1 1,080 - 324 1 A
E—X 0.2 BRE 0.2 1,620 1,512 648 1
ZTHEDH 0.2 BRE 0.2 1,566 1,566 918 1
MrAL& 2.3 E X 1.8 2,106 2,052 1,998 50 14 S
[Ehi L 43.7 BRE 43.7 2,160 - 1,836 10 3L
[ECTRYNS BRE 1,404 - 1,080 10
&L 0.9 BRE 0.9 3,240 2,700 2,160 5
AL 19.7 5 # 15.2 4,320 — 4,104 10 ¢ LL
f=FEh&E 33.1 JeiEE 29.7 3,240 - 2,808 20 L4 (
ELLV=T 2.6 BRE 0.3 — 65 — 0.1 A
HELLV=IT =l 1.5 97 76 65 0.1 A
ZDEET 6.6 = 2.2 31 — 30 0.1
LHL 3.0 2 [ 25 97 59 59 0.2
S ER T 506.8
B=
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() ATT=®) ( (kg)

HEDHHMA 0.9
LEAIA 0.3
LEY 0.9 TA)H 0.9 7,884 7,560 7,020 17 140
INLUYVT 0.9 TA)H 0.9 7,560 7,560 5,616 17 88
L7y 0.2 = 0.2 6,264 — 6,156 15 45
BR 2.1 & B 1.3 2,700 1,620 1,620 10 LL
HRE BIR - 2484 - 1
L5SHU 0.1 BIR 0.1 — 2,862 — 5 20
HmohrAED 0.2 AFO - 6,804 — 5 44
YATE 43
PEPE=IY 1.9 5 & 1.9 - 5,076 — 10 MA 36
AL 2.0 5 & 2.0 6,696 — 6,480 10[ MA 40
EX S 0.4 5 & 0.4 6,480 5,940 5,832 10[ bty
W52 9.9 ERE 6.7 378 302 270 025] A LL
AOVEF 1.5
7—IJLR 0.3 = I 0.2 4860 4,320 4,320 4l A3 4L
ZFDAOY 1.2 BERE 0.5 — 1,620 — 5/ A S
FULIVAEL 0.3
ERAY 0.3 HE 0.3 — 6,048 — 10 vay L
INFF 10.8 EYEY 10.7 5,940 3,791 3,370 15
NAFyFTIL 1.1 EYEY 1.1 3,240 2,700 2,592 10 8
FoA4T)LY 0.6 12 [ 0.6 3,024 2,484 2,484 3.6 36
RERET 345




